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wissenschaftliche Schreibweise:

1)a)1-102  b)9-10"% ¢)2,5:10"°  d)531441; 3000000000 000; 3000000 ¢)1 500000
2)a)4-102  b)5107; 15

3)a)20km  b)03mm c¢c)4dm d)84 kg e)84t f)Sa
g)6ha  h)7cm? i)8lmm?> k)90m® 1)451 m)6cm’

4)a)3-10%; 2107 1,5-10% 3,2-10'; 8-10'; 8-10% 8-10% 3-10®
b) 1,08:107°; 7,2:10% 5.4-10% 1,152:10°; 2,88-10% 2,88-107; 2.88:10% 1,08:10'> c)etwa 9,5 cm

5)a)5,10-105km>  a) 1,08-102km® a)3,00-10m/s a) 8,64-10*s a)3,16:10 s
6)a)5,6:10'm  b)1,2210%km ¢)1,2210°km d)5,6:107m*> €)5,6:10°m? ) 3,4-10°° km?

g)3,510°m*> h)7,51021 i)7,510°h1 k) 1,510%kg 1)1,510’g m)1,510°t n)2,3-10° kg
0)2,510%kg  p)2,510°g q)2,5:10%g



